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Exam 2 Review

- Multiply and simplify: a) (4y/5ay?)-(—22y752?)
b) V7(V3z—2/14) ¢) (V2—33z)(5+2/62)
d) (6-v5)" &) (BVy—V2)(5/y+v2)

i, El:i':\/.'i

N . V2 .
Write in simplest radical form: a)  b) 2r%/9z

5 3 V3425
o) G d) 2+'V’{; e) ‘/5_3 5
. Solve and check:
a) V3z+1-7=0 b) Va+ll-5=a
c) VIp2+8p—11=3p—2 d) 2=z —5=5
. Simplify: a) V-9 b) 2V—18-y/—50
V—90 il 334
C) v—125 d) e)

. Write in @+ form: a) (—4+5i)—(2-31)

b) (%+ﬁz‘}+{%—%i} ) (—3+21)(2—51)
(24 Ti)(2—T71) 2—Ti —4i 4—j
d) e) 3+4i f) 1—i g) 3i
. Solve by factoring:
a) ¥2—4x =5 b) 2z2-1lz—-21=0

. Solve using the square root property:
a) 4?=20 b) (z—3)°—25=0

. Solve by completing the square:
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a) 2—-8z+13=0 b) 2x2=06x+10
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9. Solve using the quadratic formula:
a) 202 —-6x+3=0 b) brx(z—1)=x—5
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Answer Key

—40z2y2/15zy |, V2z—14y2

. — 113z +1/2(5—18z) 4 41-12/5, 2y—4
5/2 53z 2/3z —247  33+5/15
. 2 b, 6x2 C. 3r d. e. —42
. T=16 b. a=—2 (a=-T7 js rejected)
_3 r=5Hxr=14
P=15 d
7i/2  —60 3,/2 —i -1
b. c. 5 d e
—6+8i 2 1, 4+19i 53
b. 15 2 c. d.
22 29, 2— 24 _1_ 4,
25 25 f g 3 3
I:E}}‘T:_l b I:—%:I:?

z=+\5 p T=8T=-2

. a (@=4°=3 answer: z=4£/3

m—g}ﬂzi—g 3429
b p—
, answer: 2
343 =344,
z = 55



